INSTALLATION INSTRUCTIONS | FIXTURE SERIES: NELO+™ 75L PLASTER TRIM | MOUNTING TYPE: RECESSED PLASTER TRIM PAGE: 1 OF 3
THREADED ROD DISTANCE CEILING CUTOUT LENGTH
'\I\/Jﬁ}zl( E:QBEE tgmgm m::gg 1; 1@ IND (FLUSH) NOMINAL FIXTURE LENGTH PLUS 5/8" FLUSH
IND (SR) NOMINAL FIXTURE LENGTH PLUS 1 1/4" CROSS SECTION VIEW
" 2X4 SUPPORT ]
NOMINAL FIXTURE LENGTH MINUS 12 ROW (FLUSH) | TOTAL NOMINAL ROW LENGTH PLUS 5/8" E{éé%&@éﬁﬁ?
ROW (SR) TOTAL NOMINAL ROW LENGTH PLUS 1 1/4"
CEILING REFERENCE
-2 18" MOUNTING INDIVIDUAL FIXTURE MOUNTING  ACCESS /
/ LOCATION B LOCATION—\ COVER—\ Akt pyipipy
N L \ \ \ e oI
1 LT T R A S IR I T T T e A T T
= g é \ &\ N 41/8" ] Borsy
B ‘ X i K ] R
K \ =) b S| 2 3/8" === —1/4" MAX
3 X N MIN o X
R 2 : : 9 A0
rdlF _ 7/ |
RO ROQBOOR SOYHOQ RO BOQVOQR AORQ BOQROOQY B ‘gin\O\Qb\b\O\Qb\O\Q&é\Q\Qb\O\Qb\N\@\N\ POQ BOQR DR BN y
B N A _ CEILING CEILING OPENING __|
— NOMINAL A - REFERENCE MIN 4 3/8" MAX 4 7/8
B 24" 36" 48" 60" 72", 96" A - B 6 114" "
B (NOMINAL FIXTURE LENGTH) 4 - SEMI RECESSED
- CEILING CUTOUT LENGTH N L 6 1/4" MAX— oxa supporT CGROSS SECTION VIEW
ROWJOINED FIXTURES ~6.0" NOM — —— ——
A A A <5 3/ 4" MIN - :‘:‘:‘ ':-:—:'
3\ N N N\ Sy —— — |
SRBICRECRBIEIY PORIIRBITRICRBIRB IR EITBITRIORBICRTY, BICRHFIRBITRICR IR BICREIBITREORAICRY JORHICREFSRBICREY %{\ 3/4" MIN — |—— = 1 = ]
§ 8 { 8 8 i & & i 8 _ ‘ Eplaly o o By
Q — : — ) - ]
é\ O [a) \\‘ ' ) O Ea@ o) \ \\‘ ) O EQ O ) \\‘ \\‘ [a=) O |§ V///‘ '// 7 ////1
q 2 } S ® } » ? } 2 S ‘
N RO TR SO R A U SR S G SR A A C U O E A
N IR AR N NN CEILING 23/16"
NOMINAL FIXTURE LENGTH —A = NOMINAL FIXTURE LENGTH —A = NOMINAL FIXTURE LENGTH —\ =~ REFERENCE l
- TOTAL NOMINAL ROW LENGTH A -
GENERAL NOTES: TOOLS REQUIRED SUPPLIED BY INSTALLER
1.  REFER TO SUPPLEMENTAL FIXTURE CIRCUIT WIRING, DOCUMENT 510401, FOR WIRING. -1/4" HEX DRIVER/DRILL -1/4-20 THREADED ROD
2. ENSURE FIXTURE IS FLUSH TO CEILING. -1/8" HEX KEY (OR EQUAL)
3. SUGGESTED MOUTNING METHOD IS TO SUPPORT FIXTURES BY THREADED RODS -DRYWALL KNIFE OR OTHER CUTTING TOOL | -DRYWALL SCREWS
(SUPPLIE DBY OTHER). OTHER METHODS CAN BE EXPLORED. -PLASTER
4. ALL THREADED RODS NEED TO BE INSTALLED FIRST. - 1/4" DIA WASHER
- 1/4-20 HEX NUT (MATCH
THREADED ROD)

LITECONTROL e

DO NOT MODIFY OR ALTHER THIS PRODUCT IN ANY WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN. DRAWING: 93158665

IF YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 781-294-0100 REV / DATE: 3/ 7/13/2022




INSTALLATION INSTRUCTIONS

REFLECTOR

REMOVE REFLECTOR FROM FIXTURE.
REMOVE REFLECTOR FROM
PROTECTIVE SLEEVE ONLY WHEN
READY TO REINSTALL.

0o

REMOVE WIREWAY COVERS TO ACCESS MOUTNING LOCATION.

joejejojojeo)efojo)eleoe oo o oo Yoo oo Yo oXo oo Yoo R oo Yo Yoo Yoo Xe o Yo XoXe o Yo X
7

FIXTURE SERIES: NELO+™ 75L PLASTER TRIM MOUNTING TYPE: RECESSED PLASTER TRIM PAGE: 20F 3
CEILING CUT OUT
3 BUILDING POWER
—UNSCREW TO REMOVE
| = oooo&eoooooo
' ‘ O \ ®
REwOVE =] | g 5
WIREWAY
COVER \_/ O O
QO O
- 0 Q8| o
8 OOOOOOOOOOOOOOWOOOOOOOOOOOOOOOOOOOOOOOOO O u M O
0 7~ — A N\ o
Ml——r—— = — ————— ]| (-] =
§ R N
|
§ mLACCEss
COVER

LIFT FIXTURE UP NEAR CEILING OPENING. FOR INDIVIDUAL
AND END OF ROW LEFT FIXTURES, BRING BUILDING POWER
INTO FIXTURES' ACCESS COVER. COVER CAN BE REMOVED
FROM BELOW FOR SPACE.

4 THREADED

1/4-20 HEX NUT

PLACE FIXTURE OVER CEILING OPENING AND

SECURE TO TWO PREINSTALLED TH

RODS. REFER TO SHEET 1 FOR THREADED
ROD LAYOUT. OTHER METHODS CAN BE

EXPLORED TO MOUNT FIXTURE.

rTHRU-WIRING

READED

BUILDING
POWER

WIRE BUILDING POWER TO FIXTURE FROM BELOW. IF
INSTALLING INDIVIDUAL FIXTURES, REPLACE WIREWAY
COVERS AND REFLECTOR IN THAT ORDER. ENSURE
CONNECTIONS ARE BEHIND WIREWAY COVERS. DRIVER
COVER HIDDEN IN VIEW.

FOR ROW JOINING, REPEAT STEPS 1 AND 2 ON NEXT FIXTURE. PLACE
FLAT STRAP PIECE (1) INTO INSTALLED FIXTURE. CONNECT THRU WIRING
TO NEXT FIXTURE. CONNECT FIXTURES TOGETHER.PLACE WASHER (2)
AND ROW JOINING SCREW (3) INTO FIXTURES AND SECURE USING 1/8"
ALLEN KEY. FOLLOW STEP 4 AFTER EACH FIXTURE IS JOINED. REPEAT
UNTIL ROW IS INSTALLED.

LITECONTROL .......

DO NOT MODIFY OR ALTHER THIS PRODUCT IN ANY WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN. DRAWING: 93158665

IF YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 781-294-0100 REV /| DATE: 3/ 7/13/2022




INSTALLATION INSTRUCTIONS

FIXTURE SERIES: NELO+™ 75L PLASTER TRIM

MOUNTING TYPE: RECESSED PLASTER TRIM

PAGE: 3 OF 3

TWO SCREWS
PER ENDCAP

v

ONE SCREW AT
END OF RAILS

SCREW
LOCATIONS

APPROX \o

o

12" [e)

SECURE PLASTER TRIM WITH DRYWALL SCREWS. SCREWS
SHOULD BE PLACED EVERY 12", WITH ONE ON EACH END
OF THE RAILS AND TWO ON EACH ENDCAP. APPLY PLASTER
UP TO FIXTURE.

8

WIREWAY

COVER

REFLECTOR

REPLACE ALL WIREWAY COVERS. AFTER
PLASTER DRIES, REMOVE REFLECTORS
FORM THEIR PROTECTIVE SLEEVES AND
IMMEDIATLEY REINSTALL.

9

6" FILLER
REFLECTOR

INSTALL 6" FILLER REFLECTOR AT
EVERY ROW JOINING LOCATION.

LITECONTROL

DO NOT MODIFY OR ALTHER THIS PRODUCT IN ANY WAY, OR INSTALL IN ANY FASHION WHICH IS CONTRARY TO THE INSTRUCTIONS CONTAINED HEREIN.
IF YOU HAVE ANY QUESTIONS REGARDING THIS PRODUCT OR THE INSTALLATION OF IT, PLEASE CALL LITECONTROL ENGINEERING AT 781-294-0100

DRAWING: 93158665

REV / DATE: 3 /7/13/2022




	Sheet1
	Drawing View41
	Drawing View44
	Drawing View71
	Drawing View105

	Sheet2(2)
	Drawing View74
	Detail View BB (1 : 3)
	Drawing View76
	Detail View BC (1 : 3)
	Drawing View78
	Detail View BD (1 : 2)
	Drawing View80
	Detail View BE (1 : 4)
	Detail View BF (1 : 1.5)
	Drawing View83
	Detail View BG (1 : 3)
	Detail View BH (1 : 4)
	Drawing View86
	Drawing View89
	Detail View BP (1 : 3)
	Drawing View92
	Detail View BR (2 : 3)
	Drawing View93
	Drawing View101
	Detail View BW (1 : 2)

	Sheet3(2)
	Drawing View103
	Drawing View104


